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Combined Sciences: Physics Homework/Extension Sheet T2pt1.4

1. What is the resultant force acting
on the car shown in the diagram?
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[] A:1150 N left
[] B:250 N left

[] €:250 N right
[ ] D:1150 N right

2. What force is required to
accelerate a 10 kg mass by 1.5 m/s??

[] A:6.7N
[]B:85N
[] c:0.15N

[] D:15N

3. A speed of 15 km/s is the same as
which of these?

[] A:150 m/s
[ ] B:15000 m/s
[] €:0.15m/s
[ ] D:0.0015 m/s

4. (a) An apple with a mass of 150 g is being pulled towards the centre of the Earth due to gravity.

Calculate the force pulling the apple downwards.

useW=mxg

gravitational field strength at the surface of the Earth = 10 N/kg

(b)

Force pulling the apple downwards = N

When Neil Armstrong walked on the Moon in 1969 his total mass, including spacesuit, was 158 kg.

When Neil Armstrong walked on the Moon his weight pressing down on the surface was 254 N.

Use this information to calculate the gravitational field strength at the surface of the Moon.

Give your answer to two significant figures.

gravitational field strength on the Moon =

5. A student gets angry and punches a wall as hard as they can.

Their fist exerts a force of 2500 N pushing the wall right.

Use Newton’s 3rd law of motion to explain why the student’s hand gets

injured.

N/kg
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